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MODEL TEST PAPER (MNS) – 001 

INSTRUCTION :-  Read questions carefully. Each question contains 1 marks. 

 

1. Identify the antonym of the given word‖ 

Laudatory 

(a) cheerless (c) quiet 

(b) defamatory (d) Inadmirable 

2. Identify the synonym of the given word. 

STUPID 

(a) Selfless  (c) Follower 

(b) Foolish  (d) Pioneer 

3. Choose the correct word. 

(a) Parallel  (c) Parralel 

(b) Parrallel  (d) Paralel 

4. Give one word substitute. 

A handwriting which cannot be easily read 

(a) Eligible  (c) elligible 

(b) Fault  (d) Illegible 

5. Fill in the blank with suitable conjunction. 

He would rather die ……beg. 

(a) but  (c) if 

(b) since  (d) than 

6. Fill in the blank with suitable word. 

Had he known about his bad health, he …… have taken 

adequate care. 

(a) should  (c) shall 

(b) would  (d) will 

7. Identify the correct preposition. 

Out villagers voted …… the congress candidate. 

(a) for  (c) of 

(b) to  (d) by 

8. Select the correct verb. 

She talks as if she …… mad. 

(a) is  (c) were 

(b) was  (d) had 

9. One word substitution 

One who does good to one‘s fellow men 

(a) philologist (c) opaque 

(b) philistine (d) philanthropist 

10. Form an adjective from the given word. 

EXPERIENCE 

(a) The experience  (c) experience 

(b) experienced  (d) experiencing 

11. Identify the incorrect part. 

The crowd of angry students (a) / ordered the (b) / 

closing of shops. (c)/No error (d) 

12. Identify the meaning of the given idioms,/phrases. 

To set the people by ears 

(a) to punish heavily 

(b) to insult and disgrace people 

(c) to box the people 

(d) to excite people to a quarrel 

13. Change the voice. 

(a) The suspect is being seen in several cities. 

(b) The suspect has been the people in several cities. 

(c) The suspect is claimed to have been seen in several 

cities. 

(d) The suspect was seen by people in several cities. 

14. Identify the correct choice. 

He knew that social evils were only …… of deeper 

maladies. 

(a) cause  (c) part 

(b) indications (d) manifestations 

15. Give the plural of the given word. 

Roof 

(a) roofes  (c) roofas 

(b) rofs  (d) roofs 

16. Identify the indirect speech. 

He said to me, ―Are you a student?‖ 

(a) He asked me whether I was a student. 

(b) He said to me are you a student. 

(c) He said me are you a student. 

(d) He asked to me are you a student. 

17. Fill in the blank with correct article‖ 

He can play on …… violin. 

(a) an  (c) the 

(b) a  (d) None of these 

Direction (18-23): Read the following Passage-I & Passage-

II and give the answer. 

PASSAGE – I  

The idea of evolution (which is a gradual change) was not a 

new one. The Greeks had thought of it, so had Erasmus 

Darwin, the grandfather of Charles Darwin, and also the 

Frenchman, Lamarck. It is one thing to have an idea; we can 

all guess and sometimes make a lucky guess. It is quite 

another thing tc produce a proof of the correctness of that 

idea. Darwin thought he had that proofin his notebooks. He 

saw that all animals had to struggle to survive. Those which 

were best at surviving their environment passed on the good 

qualities which helped them to their descendants. This was 

called ‗the survival of the fittest‘. For example, in a cold 

climate, those who have the warmest fur witl live. Darwin 

believed that this necessity for an animal to deal with its 

environment explained the immense variety of creatures. 

18. According to Darwinian thought, the world of animals 

is marked by 

(a) Peaceful coexistence 

(b) A struggle for survival 

(c) Indifference towards each other 

(d) Love and friendship 

19. The expression ‗the survival of the fittest, means that 

(a) The strong will survive while the weak will perish 

(b) The strong and the weak will live peacefully 

(c) The strong will help the weak survive 

(d) Both the strong and the weak will survive 

20. At the time that Darwin arrived on the scene, the idea of 

evolution 

(a) Was an idea unheard of 

(b) Had already been proved beyond doubt 

(c) Had been thought of but not proved 

(d) Was not thought fit for exploration 
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PASSAGE – II 

I felt the wall of the tunnel shiver. The master alarm 

squealed through my earphones. Almost simultaneously, 

Jack yelled down to me that there was a warning light on. 

Fleeting but spectacular sights snapped into and out of view, 

the snow, the shower of debris, the moon, looming close and 

big, the dazzling sunshine for once unfiltered by layers of 

air. The last twelve hours before re-entry were particular 

bone-chilling. During this period, I had to go up in to 

command module. Even after the fiery re-entry splashing 

down in 81o water in south pacific, we could still see our 

frosty breath inside the command module. 

21. The word 'Command Module' used twice in the given 

passage indicates perhaps that it deals with 

(a) a frightful battle 

(b) a journey into outer space 

(c) a commanding situation 

(d) an alarming journey 

22. Which one of the following reasons would one consider 

as more as possible for the warning lights to be on? 

(a) A catastrophe was imminent. 

(b) The moon was looming close and big. 

(c) There was a shower of debris. 

(d) Jack was yelling. 

23. The statement that the dazzling sunshine was "for once 

unfiltered by layers of air" means 

(a) that the sun was very hot 

(b) that there was no strong wind 

(c) that the air was unpolluted 

(d) none of above 

Directions (24-28) : In the questions from 4 to 8, some of 

the sentences have errors and some are correct. Find out 

which part of a sentence has an error and blacken the option 

corresponding to it (a, b, c). If a sentence is free from errors, 

then your answer is (d) i.e. No error. 

24. The salt spray has gradually ………the bridge. 

(a) Sprite  (b) Ravaged 

 (c) Demolished  (d) Eroded 

25. The volcanic …………was the cause of 

great 

 devastation. 

 (a) Outburst  (b) Eruption 

 (c) Erosion  (d) Movement 

26. It was impossible to recover the victims‘ 

bodies 

 as the place of the accident was……… 

 (a) Inaccessible  (b) Marshy 

 (c) Distant  

  (d) Rocky 

27. In order to maintain good health one 

should  

 eat a ……… diet 

 (a) Rich  (b) Spicy 

 (c) Balanced  (d) Salty 

28. As a result of …………………..many unsuitable 

candidates were selected for the posts. 

(a) Tolerance (b) Favoritism 

(c) Humility   (d) 

Weakness 

Directions (29-30) : In the following questions, sentences 

are given with blanks to be filled in with an appropriate 

option. Four options are suggested for each question. 

Choose the correct option out of the four Or fill in the 

blanks with appropriate word from given alternatives. 

29. ____ your instruction, we have closed your bank 

account. 

(a) In lieu   (c) In accordance with 

(b) With regard to  (d) On account of 

30. ____ she is clever, she often makes mistakes. 

(a) Despite   (c) Although 

(b) Since   (d) Yet 

Direction(31-32): CHANGE direct into indirect 

31. Pawan said to me, "If I hear any news, I'll phone you." 

(a) Pawan told me that if he heard any news, he will 

phone me. 

(b) Pawan told me that if he will hear my news, he will 

phone me. 

(c) Pawan told me that if he had heard any news, he 

would phone me. 

(d) Pawan told me that if he heard any news, he would 

phone me. 

32. He said, "I cannot help you at present because I am 

myself in difficulty." 

(a) He said that I cannot help you at present because I 

myself in difficulty. 

(b) He said that he could not help me at present 

because he was himself in difficulty. 

(c) He told that he could not help you at present 

because he was himself in difficulty. 

(d) He asked that he could not help you at present 

because he was himself in difficulty. 

Direction(33-34): Some proverbs/idioms are given below 

together with their meanings. Choose the correct meaning of 

proverb/idiom, If there is no correct meaning given, E (i.e.) 

'None of these' will be the answer. 

33. To be above board 

(a) To have a good height 

(b) To be honest in any business deal 

(c) They have no debts 

(d) To try to be beautiful 

34. To put one's hand to plough 

(a) To take up agricultural farming 

(b) To take a difficult task 

(c) To get entangled into unnecessary things 

(d) Take interest in technical work 

Direction (35-36): In questions given below out of four 

alternatives, choose the one which can be substituted for the 

given word/sentence. 

35. A person pretending to be somebody he is not 

(a) Magician (c) Liar 

(b) Rogue  (d) Imposter 

36. A person who knows many foreign languages 

(a) Linguist  (c) Polyglot 

(b) Grammarian (d) Bilingual 

37. Spelling test - find correct spelling : 

(a) Archiology  (c) Archeaology 

(b) Archaeology  (d) Archealogy 

38. Spelling test - find correct spelling : 

(a) Assassenation  (c) Assasination 

(b) Assassination  (d) Asassination 

39. Spelling test - find correct spelling : 

(a) Autonomouse  (c) Autonomes 

(b) Autonomous  (d) Autonomus 

40. Spelling test - find correct spelling : 

(a) Admissible  (c) Admissiblle 

(b) Admisible  (d) Addmissible 

41. Our National tree is the ………………….. 

(a) Neem tree  (c) Apple tree 
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(b) Banyan tree  (d) none 

42. What difference does the 5th generation computer have 

from other generation computers? 

(a) Technological advancement 

(b) Scientific code 

(c) Object Oriented Programming 

(d) All of the above 

(e) None of the above 

43. The Assam government has recently signed MoU with 

which country for skilling state's youth? 

(a) Singapore  (c) United Kingdom 

(b) Thailand   (d) Indonesia 

44. The First Indian Dog Breed to be trained for Army 

Duty? 

(a) Mudhol Hound  (c) Tibetian Mastiff 

(b) Rampur Greyhound (d) Jonangi 

45. Name the Indian state which signed sister-state 

agreement with Indiana, a State in the US? 

(a) Assam  (c) Kerala 

(b) Karnataka (d) Manipur 

46. Which Iraqi scientist known as Dr. Germ for her role in 

Iraqs biological weapons programme recently 

surrendered to coalition forces ? 

(a) Maleeha Lodhi   (c) Saleema Garib 

(b) Salma Pervez  (d) Rihab Rashid Taha 

47. Kishori Amonkar is famous in which of the following 

fields ? 

(a) Dance  (c) Social service 

(b) Music  (d) Film acting 

48. Where is Dead Sea situated in the following continents? 

(a) Europe   (c) Asia 

(b) Australia   (d) Africa 

49. Which of the following industries is most developed in 

the Great Lakes region of North America? 

(a) Cement and Paper   

(b) Steel and Engineering 

(c) Film industry 

(d) Textile and Chemicals 

50. Identify the figure that completes the pattern. 

 
    (X)               (1)               (2)           (3)             (4) 

(a) 1  (c) 3 

(b) 2  (d) 4 

51. Identify the figure that completes the pattern. 

 
    (X)               (1)               (2)           (3)             (4) 

 (a)1  (c) 3 

(b)2   (d) 4 

52. In the following series which is the 8th letter to the right 

of 16th letter from your left? 

ABCDEFGHUKLMNOPQRSTUVWXYZ 

(a) K  (d) W 

(b) Y   (e) None of these 

(c) X 

53. As 'Tennis' is related to 'Racket' in the same way 

'Hockey' is related to what? 

(a) Ball  (d) Player 

(b) Stick   (e) None of these 

(c) Field 

54. Introducing a man, a woman says, "He is the only son 

of my mother's mother." How is the man related to the 

woman? 

(a) Uncle   (c) Maternal uncle  

(b) Father    (d) Uncle 

55. If UDOMETER is coded as DUMOTERE then how 

will SUBLEASE be coded? 

(a) USLBESAE (d) USLBEAES 

(b) USLBAEES (e) None of these 

(c) USBAELES  

56. If PURSER is coded as UPSRRE then how will 

PERIODIC be coded? 

(a) EPRIDOIC (d) EPIRODCI 

(b) PEIRDOCI (e) None of these 

(c) EPIRDOCI  

Directions(57-58): If `+‘ is `x‘, `-‗ is `+‘, `x‘ is `’‘ and '’' is 

`-‗, then answer the following questions based on this 

information. 

57. 48. 6 – 9 + 8 x 3 ÷ 20 = ? 

(a) -2  (d) 12 

(b) 6  (e) None of these 

(c) 10 

58. 5 x 4 – 6 ÷ 3 + 1 = ? 

(a) 5  (d) 2 

(b) 4  (e) None of these 

(c) -1 

59. Four defenders in a football match — Defender A, 

Defender B, Defender C & Defender D — take their 

positions in this order in a row from right to left. During 

the match, Defender A changes places with Defender C 

and then Defender C changes places with Defender B. 

Which defender is now at the right end of the row? 

(a) Defender A (c) Defender C 

(b) Defender B (d) Defender D 

60. Who invented Vitamin ? 

(a) F.G. Hopkins  (c) Holst 

(b) Mc. Collum  (d) Ronald Ross 

61. Who invented Insulin ? 

(a) Christian Bernard (c)  (c) Edwards and Stepto 

(b) Stenach   (d) Banting 

62. Who invented Polio Vaccine ? 

(a) Harrison and Sympson 

(b) Johan E. Salk 

(c) Luvenhauk - Leeuwenhock 

(d) Karl Landsteiner 

63. The poison of honey bee is ? 

(a) Acidic  (c) Alkaline 

(b) Saltish  (d) Protein 

64. Beri-Beri is caused by the lack of vitamin ? 

(a) Vitamin B2 (c) Vitamin C 

(b) Vitamin A (d) Vitamin B1 

65. Which is not a part of blood ? 

(a) RBC  (c) Plasma 

(b) WBC  (d) Placenta 

66. Influenza is caused by ? 

(a) Fungus  (c) Virus 

(b) Bacteria  (d) Algae 

67. Eggs is not a source of ? 

(a) Fats  (c) Vitamin D 

(b) Vitamin C (d) Protein 

68. Quinine is extracted from the bark of : 

(a) Neem  (c) Eucalyptus 

(b) Cedar  (d) Cinchona 

69. Milk fever in cow is caused due to the deficiency of ? 

(a) Sodium  (c) Phosphorus 
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(b) Calcium  (d) Nitrogen 

70. Bronchitis is a disease of ? 

(a) Blood  (c) Respiratory tract 

(b) Bladder  (d) Liver 

71. Which part of the human body coordinates the functions 

of various organs ? 

(a) Kidneys  (c) Liver 

(b) Brain  (d) Heart 

72. Which part of eye becomes inflamed and pink when 

dust gets into it ? 

(a) Choroids (c) Sclerotic 

(b) Cornea  (d) Conjunctiva 

73. What provides instant energy ? 

(a) Fat  (c) Protein 

(b) Carbohydrates (d) Vitamin 

74. White blood corpuscles are used by our body ? 

(a) to carry oxygen  (c) to combat infection 

(b) to dissolve proteins (d) to help liver work 

75. Venom of cobra attacks on ? 

(a) Digestive system  (c) Circulatory system 

(b) Nervous system  (d) Respiratory system 

76. Rubber is obtained from ? 

(a) cell sap  (c) gun 

(b) latex  (d) resin 

77. Plants synthesise protein from ? 

(a) fatty acids (c) starch 

(b) amino acids (d) sugar 

78. Oxygen in our blood is transported by ? 

(a) Keratin  (c) Myoglobin 

(b) Collagen (d) Haemoglobin 

79. Mango contains which vitamins ? 

(a) A and C  (c) A and B 

(b) B and C  (d) B and E 

80. Leukemia is a disease of the ? 

(a) lungs  (c) liver 

(b) blood  (d) brain 

81. Diabetes is caused by lack of ? 

(a) Sugar  (c) Vitamin 

(b) Calcium  (d) Insulin 

82. How much plasma Human blood contains ? 

(a) 60 %  (c) 70% 

(b) 65%  (d) 75% 

83. Which among the following blood protein regulates the 

amount of water in plasma ? 

(a) Fibrin  (c) Fibulin 

(b) Globulin  (d) Albumin 

84. Which among the following hormone can be used as a 

drug to treat cardiac arrest ? 

(a) Thyroxin (c) Epinephrine 

(b) Calcitonin (d) Insulin 

85. "Acetylsalicylic Acid" is commonly known as 

(a) Aspirin  (c) Paracetamol 

(b) Wintergreen (d) Salsalate 

86. Which among the following kinds of lenses are used to 

treat Astigmatism ? 

(a) Concave Lens (c) Bifocal Lens 

(b) Convex Lens (d) Cylindrical 

87. Which among the following lens is used to treat 

Presbyopia ? 

(a) Convex Lens (c) Bifocal Lens 

(b) Concave Lens (d) Cylindrical Lens 

88. Cirrhosis is a disease that affects which among the 

following organs ? 

(a) Kidney  (c) Pancreas 

(b) Liver  (d) Small Intestine 

89. The acidic medium of gastric juice along with an 

enzyme Pepsin breaks the proteins down into smaller 

parts known as ? 

(a) Peptides  (c) Peptose 

(b) Peptones (d) Amino Acids 

90. Fungi are always ? 

(a) hetrotrophic (c) autotrophic 

(b) saprophytic (d) parasitic 

91. Radioactivity has applications in -  

(a) Medicine   (c) Industry 

(b) Agriculture   (d) All of these 

92. The nucleus of an atom contains -  

(a) Protons and Neutrons  

(b) Protons and Electrons  

(c) Neutrons and Electrons  

(d) Only Neutrons 

93. The term pH denotes the -  

(a) Temperature of solution  

(b) Vapour pressure of solution  

(c) Acidity or Basicity of solution  

(d) Ionic strength of solution 

94. DDT is the name of a chemical that can be used as a/an  

(a) Antiseptic   (c) Antibiotic 

(b) Insecticide    (d) Fertilizer 

95. Ethanol containing 5% water is known as -  

(a) Absolute alcohol   (c) Power alcohol 

(b) Dilute alcohol    (d) Rectified spirit 

96. The percentage of nitrogen present in ammonia sulphate 

is -  

(a) 18%    (c) 25% 

(b) 21%     (d) 30.5% 

97. Stains Of rust on clothes can be removed by -  

(a) H2O2    (c) Petrol 

(b) Oxalic acid    (d) Alcohol 

98. Transboundary pollution (or) Acid rain is caused by:  

(a) Nitrogen oxide and sulphur dioxide  

(b) Carbon monoxide  

(c) Carbon dioxide  

(d) Hydrocarbon 

99. Which of the following is the most dangerous 

pollutant?  

(a) Carbon dioxide   (c) Carbon monoxide 

(b) Sulphur dioxide    (d) Nitrous oxide 

100. Which of the following is an acid?  

(a) H2O   (c) HZSO4 

(b) Na2CO3    (d) NaCl 

101. In severe winter in cold countries water pipes burst 

because 

(a) water expands on freezing 

(b) contraction of water pipes 

(c) high atmospheric pressure 

(d) combined effect of all the above three. 

102. In the process of magnetization of a bar 

(a) The entire bulk of the bar gets magnetised 

(b) Only the surface of the bar gets magnetised 

(c) Only the ends of the bar get magnetised 

(d) Only some parts of the outer layers of the bar 

get magnetized 

103. A falling drop of rain water acquires the spherical 

shape due to 

(a) Viscosity  (c) Atmospheric pressure 

(b) Surface Tension (d) Gravitational force 

104. The weakest of all fundamental forces is 
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(a) Gravitational force  (c) Magnetic force 

(b) Electrostatic force  (d) Nuclear force 

105. Velocity of sound in air does not change with the 

change of 

(a) Temperature of air 

(b) Pressure of air 

(c) Moisture content in air 

(d) Wind in the direction of propagation of sound 

106. the density of gas is maximum at 

(a) Low temperature low pressure 

(b) Low temperature high pressure 

(c) High temperature low pressure 

(d) High temperature high pressure 

107. Why is it difficult to breathe at higher altitudes? 

(a) Due to low air pressure 

(b) Due to low temperature 

(c) Due to ozone 

(d) Due to high humidity 

108. The strongest force in nature is  

(a) electrical force   (c) nuclear force  

(b) gravitational force  (d) magnetic force 

109. According to the theory of relativity which of the 

following alt ways remains constant ?  

(a) Length of an object (c) Space 

(b) Time   (d) Velocity of light 

110. The spoon dropped by an astronaut in a satellite will 

(a) fall to the floor 

(b) remain stationary 

(c) continue to follow the motion of the satellite 

(d) move tangentially away 

111.  The scientific study concerning population is known 

as… 

(a) Econometrix   (b) Demography 

(c) Sericulture  (d) None of these   

112. Who was the first Commander in chief of Independent 

India? 

(a) Gen K M Kariappa   

(b) Gen V P Malik 

(c) Gen B N Sharma 

(d) Gen Shanker Roy Chaudhary 

113. My sore is famous for….. 

(a) Jute Industry  (b) Silk  

      (c) Grapes   (d) Zink 

114. Where the famous Golkonda Fort situated? 

(a) Hyderabad   (b) Mumbai 

       (c) Bhopal    (d) None of these 

115. Independence Day speech is delivered 

from…………… 

(a) Red fort        (b) India Gate 

       (c) Gateway of India   (d) Rashtrapati Bhawan 

116. Who has written the book ‗Ananda Math? 

(a) Bankim Chandra chatterjee(b) Abdul Fazal 

      (c) Kali Das          (d) Tagore 

117. Which country is known as Gift of Nile? 

(a) Egypt   (b) Rome 

      (c) Japan   (d) Fanaland 

118. What is Laptop? 

(a) Computer  (b) Phone 

       (c) Portaole TV  (d) Camera 

119. Where is the confluence of three holy rivers the Ganga 

Yamuna and Saraswathi located? 

(a) Patna    (b) Prayagraj 

       (c) Mathura  (d) None of these 

120. Hazaribagh National Park is situated in……… 

(a) Jharkhand  (b) West Bengal 

       (c) Orissa   (d) None of these 

121. Income Tax is collected by? 

(a) Centre government (b) State government 

      (c) RBI           (d) None of these 

122. Which of the year is not leap year? 

(a) 1992   (b) 1996 

      (c) 1934    (d) 1952 

123. Which country flag has five colours.  

(a) Portugal  (b) Nepal 

      (c) China    (d) Iran 

124. Year shortest day is? 

(a) 21 June  (b) 21 March  

       (c) 23 September  (d) 22 December 

125. Who invented rail engine? 

(a) Thomas Savery(b) George Stephenson 

       (c) James Watt      (d) Jacob Leupold 

126. The Muslim League demanded a separate State for the 

Muslims in the year: 

 (a) 1935   (b) 1940 

 (c) 1930   (d) 1920 

127. On which day United Nations Day falls? 

 (a) 30 October  (b) 2 October 

 (c) 24 October  (d) 14 October 

128. Who presides over the meeting of Rajya sabha? 

 (a) Prime Minister  (b) President 

 (c) Vice-President (d) Speaker 

129. World War II took place during years: 

 (a) 1935-1940  (b) 1927-1947 

 (c) 1939-1945  (d) 1937-1951 

130. Kathakali is associated with which State: 

 (a) Karnataka  (b) Andhra Pradesh 

 (c) Kerala  (d) Tamil Nadu 

131. Which of the following State group is largest producer 

of mineral oil in India? 

(a) Gujarat, U. P., Maharashtra 

(b) Maharashtra, W. Bengal, Assam 

(c) Assam, U. P., Bihar 

(d) Assam, Gujarat, Maharashtra 

132. Which of the following water-ways does not pass 

through the Panama Canal? 

(a) London-Honolulu.   

(b) New York-San francisco  

(c) New York-Buenos Aires  

(d) New York-Sydney 

133. Which of the following latitudes is a great circle? 

(a) Equator  (c) 20°S 

(b) 66°N   (d) 23°S 

134. Which of the following city is not located on Delhi-

Kolkata rail route?  

(a) Kanpur  (c) Gaya 

(b) Allahabad (d) Varanasi 

135. Which of the following industries is famous in the Ruhr 

industrial region of Europe?  

(a) Textile and Chemicals (c) Cement and Paper 

(b) Steel and Engineering (d) Ship building 

136. If the direction of the earth's rotation on its axis is east-

west, what would be the direction of Trade wind 

blowing in Southern hemisphere? 

(a) South-West  (c) North-East 

(b) South-East  (d) North-West 

137. The coldest hour of the day is approximately— 
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(a) 5 a.m.  (c) 3 a.m. 

(b) 9 p.m.   (d) 10 a.m. 

138. Which of the followings is fibre mineral? 

(a) Zinc  (c) Coal 

(b) Asbestos  (d) Asphalt 

139. What are asteroids? 

(a) Minor planets revolving round the Sun between the 

orbits of Mars and Jupiter 

(b) Luminous celestial bodies moving round the Sun 

(c) A group of fixed stars arranged naturally 

(d) Small pieces of solid matter which appear in the 

earth's atmosphere as shooting stars from out 

spaces and become visible through incandescence 

caused by the resistance of the air to their passage. 

140. What is Isthmus? 

(a) The mouth of a river where it joins the sea 

(b) A narrow strip of sea dividing two oceans 

(c) A narrow strip of land joining two seas or oceans 

(d) A piece of projected land 

141. Which of the following phenomena causes the shape of 

the Earth ? 

(a) Internal structure  (c) Rotation 

(b) Atmospheric pressure (d) Revolution 

142. Which of the following is the location of a point on the 

globe that is antipodal to 65° North Latitude and 30° 

East Longitude? 

(a) 65° North Lat., 30° West Long 

(b) 30° South Lat., 65° East Long 

(c) 65° South Lat., 150° West Long 

(d) 30° North Lat., 65° West Long 

143. The surface of the earth is still irregular inspite of 

millions of years of gradation, because— 

(a) Gradation is a slow process 

(b) Gradation does not reduce irregularities  

(c) Deposition of material re-elevates the land 

(d) Parts of the crust have been uplifted 

144. What would result if the sedimentary deposit of the 

Ganga Plain is compressed between the Himalayas and 

the Deccan Plateau and then uplifted? 

(a) Block mountain   (c) Rift valley 

(b) Fold mountain   (d) Volcanic plateau 

145. What would happen to ocean water if the moon comes 

nearer to the earth ? 

(a) Fall of temperature 

(b) Stopping of ocean currents 

(c) Rise of sea level 

(d) Increase in height of oceanic tides 

146. The line joining places of equal atmospheric pressure is 

termed— 

(a) Contour  (c) Isotherm 

(b) Isohyet  (d) Isobar 

147. What would happen to types of rainfall if the earth's 

surface becomes all plain? 

(a) No cyclonic rainfall  

(b) No orographic rainfall 

(c) No convectional rainfall 

(d) No frontal rainfall 

148. The maximum risk to air travel is from— 

(a) Clouds  (c) Fogs 

(b) Rainfall  (d) Strong winds 

149. Which one of the following countries is the largest 

producer of rice in the world? 

(a) China  (c) Philippines 

(b) Japan  (d) Bangladesh 

150. Which of the following countries possesses a strong 

natural resource base for iron and steel industry ? 

(a) Russia   (c) Japan 

(b) Pakistan   (d) Bangladesh 
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